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(1) IRIILF—EBRE_BIELRFEOHLEE XExtiEEAER
EREE =
RE ERE HEH R Pt
BE(F2) 66, 906 kwh 24,42 C02
v (6% 5 950, 284 kwh 0 000365 2 171.85 €02
£ (LPG) 310.3 ke 3.00 0.93 C02
T3 0.0L 2. 49 0.00 C02
83 470.0 L 258 1.21 C02
HD 2.198. 41 C02
(2) Z#oto_EitikEzHHEE
EHEE =
RE ERE HEH RS Bt
Hys 6. 462 L 232 14.99 C02
K& 530 m3 0. 36 0.19 C02
$#@ 15.18 C02
285t D+ @ = ( 2.198.41 + 1518 ) = 2 213.59
Q) MEEOERE
HA4 X FERAME  A4BEHRK BETHE
A3 3. 000 6. 000
A4 202, 500 202, 500
ak : > 208, 500 #&
B5 0 0
2 EEYOHH=E
IER HHE zE =
A =2 1,010 100.0 1,010 ke
T2 0 00 0 ke
A =5 0 0.0 0 ke
817 = 0 00 0 ke
a5t 1,010 ke




